15.3 Surface area of Rectangular Prisms and Cylinders

| Instructions: Find the area of each figure. Round to the nearest hundredth, if necessary.

1.

15 m

14 m
SA = 2aren ciraes) + Aren Rectancle

SA=2Anr?)+ P (a)
SA=2(3.14 x 154+ (3.14)30(14)
Surface Area: SA=27318w’

2.

20in

9in

3in

SA=2(20x 3+2(20x 9)+2(3x 9)

Surface Area; SA= 10214

18in

20in

8in

SA=2(20 x 8)+2(20 x 18)+2(8 x 18)

Surface Area: SA=132814

4.

Surface Area:

11 ft

SA = 2pren ciraes) + Aren Rectancle
SA=2nr?)+ P (#)

SA= 2314 x B9 BA4)6(11)
SA=263.76 &

"™

SA = 2pren ciraes) + Aren Rectanle

SA=Lnr?)+ P (4)

SA=23.14x 29+ BA4H(1)
Surface Area: SA=37.68m’

3in

4in

20in

SA=2(20x 3)+2(20 x 4) + 2(3 x4)

Surface Area: SA=30414

Radius = 6 ft
SA = 2aren crraes) + Aren Rectancle
SA=2Anr?)+ P (4)
SA=2(3.14 x 6%) + (3.14)12(10)
Surface Area: SA=60288#"

Surface Area:

10 ft

10 ft

10 ft

SA=2(10x 10) + 2(10x 10) + 2(10 x 10)
SA =600 £
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